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Remember	
  the	
  year	
  





2016	
  



2017	
  



ImageNet	
  Classifica#on	
  	
  
Error	
  

1995:	
  MNIST	
  released	
  (dataset)	
  
1998:	
  LeNet5	
  classifies	
  MNIST	
  (CNN	
  technique)	
  
2007:	
  Nvidia	
  releases	
  CUDA	
  (GPU	
  compu#ng)	
  
2009:	
  GPUs	
  recognized	
  (GPU	
  compu#ng)	
  
2010:	
  ImageNet	
  released	
  (big	
  dataset)	
  
2012:	
  Deep	
  Learning	
  Revolu#on!	
  (DNN	
  technique)	
  
2014:	
  Nvidia	
  releases	
  cuDNN	
  (GPU	
  compu#ng)	
  
2015:	
  Machine	
  learning	
  beats	
  humans	
  
	
  	
  	
  (DNN	
  technique,	
  	
  data,	
  GPU	
  compu#ng)	
  
	
  	
  

5%	
  

History	
  of	
  Image	
  Recogni#on	
  



Q:	
  How	
  did	
  robots	
  beat	
  us	
  in	
  2015?	
  
A:	
  Deep	
  Learning,	
  Big	
  Data,	
  GPU	
  Compu#ng	
  

Talk	
  Outline:	
  
2000-­‐2012:	
  Birth	
  of	
  Convolu#onal	
  Neural	
  Networks	
  

	
  MNIST	
  dataset	
  (handwri=en	
  digits)	
  
	
  Pa=ern	
  Recogni#on	
  
	
  Linear	
  classifiers	
  
	
  Neural	
  Networks	
  (Non-­‐linear	
  classifiers)	
  
	
  Convolu#onal	
  Neural	
  Networks	
  

2012:	
  AlexNet	
  (Deep	
  Neural	
  Networks	
  +	
  GPU)	
  
2013:	
  ZF	
  Net	
  
2014:	
  VGG	
  Net	
  	
  	
  
2014:	
  GoogLeNet	
  
2015:	
  Microsof	
  ResNet	
  (Super	
  Deep	
  Neural	
  Networks!)	
  



2000:	
  MNIST	
  dataset	
  is	
  70,000	
  handwri8en	
  digits	
  28x28	
  pixels	
  

To	
  classify,	
  find	
  func#on	
  f	
  

f : R784 ! R

f : [0, 1]784 ! {0, 1, 2, ..., 9}
specifically	
  

(for	
  28	
  x	
  28)	
  
x̄i =

2

666666664

0 0 0 0 0
0 1 1 1 0
0 0 0 1 0
0 1 1 1 0
0 1 0 0 0
0 1 1 1 0
0 0 0 0 0

3

777777775

2 R784

yi = 2 2 R



First	
  A=empt:	
  Linear	
  Classifier	
  
(logis#c	
  regression,	
  linear	
  SVM,	
  naive	
  Bayes)	
  

Given	
  
	
  
Classify	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  as	
  
	
  
	
  	
  	
  

2D	
  Example	
  
	
  
	
  

w̄0, w̄1, w̄2..., w̄9 2 R784 and b0, b1, b2, ..., b9 2 R

x̄i 2 R784
ŷi = argmax

0k9
(bk + w̄k · x̄i)

x̄i 2 R2

yi 2 {0, 1, 2}



Find	
  
using	
  stochas#c	
  gradient	
  descent	
  to	
  minimize	
  a	
  cost	
  (error)	
  
func#on.	
  For	
  example,	
  a	
  simple	
  cost	
  func#on	
  is	
  
	
  
	
  
	
  
	
  	
  	
  

Each	
  epoch,	
  iterate	
  through	
  all	
  	
  	
  	
  	
  	
  and	
  update	
  all	
  	
  	
  	
  	
  	
  	
  and	
  	
  

where	
  	
  	
  	
  is	
  the	
  learning	
  rate.	
  

First	
  A=empt:	
  How	
  do	
  we	
  find	
  w’s	
  and	
  b’s?	
  

w̄0, w̄1, w̄2..., w̄9 2 R784 and b0, b1, b2, ..., b9 2 R

C(x, y, w, b) =
X

i

⇥
(bŷi + w̄ŷi · x̄i)� (byi + w̄yi · x̄i)

⇤

w̄k = w̄k � ⌘rw̄kC(x̄i, yi, w, b) for all k = 0, 1, 2, ..., 9

x̄i w̄k bk

⌘





Second	
  A=empt:	
  Nonlinear	
  Classifier	
  
(neural	
  network,	
  nonlinear	
  SVM,	
  kNN,	
  CART,	
  random	
  forest,	
  boosted	
  trees)	
  

Given	
  
and	
  nonlinear	
  func#on	
  	
  
	
  
Classify	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  as	
  
	
  
	
  	
  	
  

f : R784 ! Rn

x̄i 2 R784
ŷi = argmax

0k9
(bk + w̄k · f(x̄i))

2D	
  Example	
  
	
  
	
  

x̄i 2 R2

yi 2 {0, 1, 2}

w̄0, w̄1, w̄2..., w̄9 2 Rn and b0, b1, b2, ..., b9 2 R



Second	
  A=empt:	
  How	
  do	
  we	
  find	
  f,	
  w’s,	
  and	
  b’s?	
  

	
  
	
  
Then,	
  find	
  
and	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  using	
  stochas#c	
  gradient	
  descent	
  to	
  
minimize	
  a	
  cost	
  func#on.	
  For	
  example,	
  a	
  simple	
  cost	
  func#on	
  is	
  
	
  
	
  
	
  
	
  	
  	
  

First,	
  define	
  f	
  using	
  m	
  parameters	
  p0, p1, p2, . . . , pm 2 R

p0, p1, p2, . . . , pm 2 R
w̄0, w̄1, w̄2..., w̄9 2 Rn and b0, b1, b2, ..., b9 2 R

Each	
  epoch,	
  iterate	
  through	
  all	
  	
  	
  	
  	
  	
  and	
  update	
  all	
  	
  	
  	
  	
  	
  	
  ,	
  	
  	
  	
  	
  	
  ,	
  and	
  

where	
  	
  	
  	
  is	
  the	
  learning	
  rate.	
  

x̄i w̄k bk

⌘

pk
w̄k = w̄k � ⌘rw̄kC(x̄i, yi, w, b, p) for all k = 0, 1, 2, ..., 9

C(x, y, w, b, p) =
X

i

⇥
(bŷi + w̄ŷi · fp(x̄i))� (byi + w̄yi · fp(x̄i))

⇤

pk = pk � ⌘

@
@pk

C(x̄i, yi, w, b, p)



Second	
  A=empt:	
  Use	
  a	
  neural	
  network	
  for	
  funcGon	
  f	
  

f : R3 ! R2

[x1, x2, x3]T ! [y1, y2]T

x1	
  

x2	
  

x3	
  

1	
  

y1	
  =	
  g(p0	
  +	
  x1p1	
  +	
  x2p2	
  +	
  x3p3)	
  

y2	
  =	
  g(p4	
  +	
  x1p5	
  +	
  x2p6	
  +	
  x3p7)	
  

p0	
  

p1	
  

p2	
  

p3	
  

p4	
  

p6	
  
p7	
  

p5	
  

g	
  

g	
  

Let	
  g	
  be	
  a	
  nonlinear	
  step	
  like	
  func#on.	
  

g(t) = max{0, t} g(t) = et

1+et

0	
   0	
  
ReLU	
   Sigmoid	
  





Third	
  A=empt:	
  Fully	
  Connected	
  Neural	
  Network	
  

x1	
   x2	
   x3	
   x4	
   x5	
  
x6	
   x7	
   x8	
   x9	
   x10	
  

x31	
  x32	
  x33	
  x34	
  x35	
  

y7	
  

x18	
  

x35	
  

y7	
  

y35	
  

z13	
  

z35	
  

z13	
  

x1	
   y1	
   z1	
  

y29	
  

y29 = g

�
pk0 +

35X

i=1

pkixi

�

y7 = g

�
pj0 +

35X

i=1

pjixi

�

z13 = g
�
pl0 +

35X

i=1

pliyi
�



Third	
  A=empt:	
  ConvoluGonal	
  Neural	
  Network	
  

x1	
   x2	
   x3	
   x4	
   x5	
  
x6	
   x7	
   x8	
   x9	
   x10	
  

x31	
  x32	
  x33	
  x34	
  x35	
  

y7	
  

x35	
  

y7	
  

y35	
  

z13	
  

z35	
  

z13	
  

x1	
   y1	
   z1	
  

y13	
  

y29	
  

y29 = g

�
pr0 +

9X

i=1

prixti

�

y7 = g

�
pr0 +

9X

i=1

prixsi

�

z13 = g
�
pq0 +

9X

i=1

pqiyui

�



&	
  p0=	
  0	
  p=	
  
-­‐2	
  1	
  1	
  
-­‐2	
  1	
  1	
  
-­‐2	
  1	
  1	
  

with	
  padding	
  

z=	
  
=p0+pz	
  

Example:	
  A	
  3x3	
  convolu#on	
  filter	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (lef	
  edge	
  detector).	
  

0	
  0	
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  0	
  
0	
  0	
  1	
  0	
  0	
  0	
  1	
  0	
  0	
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&	
  p0=	
  0	
  p=	
  
-­‐2	
  1	
  1	
  
-­‐2	
  1	
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-­‐2	
  1	
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  padding	
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0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  
	
  
	
  

z=	
  
=p0+pz	
  

Example:	
  A	
  3x3	
  convolu#on	
  filter	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (lef	
  edge	
  detector).	
  



&	
  p0=	
  0	
  p=	
  
-­‐2	
  1	
  1	
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z=	
  
=p0+pz	
  

Example:	
  A	
  3x3	
  convolu#on	
  filter	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (lef	
  edge	
  detector).	
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z=	
  
=p0+pz	
  

Example:	
  A	
  3x3	
  convolu#on	
  filter	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (lef	
  edge	
  detector).	
  



&	
  p0=	
  0	
  p=	
  
-­‐2	
  1	
  1	
  
-­‐2	
  1	
  1	
  
-­‐2	
  1	
  1	
  

with	
  padding	
  

0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  
0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1	
  2	
  0	
  0	
  0	
  
0	
  0	
  1	
  1	
  1	
  1	
  1	
  0	
  0	
  
0	
  0	
  1	
  0	
  0	
  0	
  1	
  0	
  0	
  
0	
  0	
  1	
  0	
  0	
  0	
  1	
  0	
  0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
0	
  0	
  1	
  0	
  0	
  0	
  1	
  0	
  0	
  
0	
  0	
  1	
  1	
  1	
  1	
  1	
  0	
  0	
  
0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  
0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  0	
  
	
  
	
  

z=	
  
=p0+pz	
  

Example:	
  A	
  3x3	
  convolu#on	
  filter	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (lef	
  edge	
  detector).	
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Right	
  	
  
edge	
  
detector	
  

LeP	
  	
  
edge	
  
detector	
  

Example:	
  Four	
  5x5	
  convoluGon	
  filters	
  

g(pk0 + p̄k ~ x̄i), g(t) = max{0, t}

ReLU	
  

Conv	
  

pk0 + p̄k ~ x̄i for k = 1, 2, 3, 4



Third	
  A=empt:	
  LeNet5	
  [LeCun	
  et	
  al.,	
  1998]	
  AT&T	
  Bell	
  Labs	
  

0	
  
Layer	
  0	
   Layer	
  1	
   Layer	
  2	
  

2	
  
*

4	
  maps	
   3x3x4	
  filter	
  Apply	
  four	
  filters	
  





2007:	
  Nvidia	
  GPU	
  releases	
  CUDA	
  [Nvidia,	
  2007]	
  
2009:	
  Large	
  Scale	
  Deep	
  Unsupervised	
  Learning	
  using	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Graphic	
  Processors	
  [Raina	
  et	
  al.,	
  2009	
  ]	
  Stanford	
  University	
  

GPU	
  provides	
  10x	
  to	
  100x	
  speedup	
  over	
  CPU!	
  

CPU	
  is	
  SISD	
  
(single	
  instruc#on	
  	
  

single	
  data)	
  

GPU	
  is	
  SIMD	
  
(single	
  instruc#on	
  mul#ple	
  data)	
  



2011:	
  MNIST	
  Solved	
  [Ciresan	
  et	
  al.,	
  2011]	
  Switzerland	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  99.73%	
  Accuracy	
  Achieved	
  

CNN	
  
plus	
  
GPU	
  
plus	
  
Big	
  
Data!	
  

h=p://kaggle.com	
  

0.98	
   0.99	
   1.00	
  0.97	
  0.96	
  0.95	
  

Exceeding	
  99.8%	
  
isn’t	
  possible	
  	
  
because	
  of	
  mislabeled	
  	
  
and	
  illegible	
  digits.	
  



2010	
  -­‐	
  2017:	
  ImageNet	
  Annual	
  Comp	
  
The	
  “Olympics”	
  of	
  Computer	
  Vision	
  	
  

1,000	
  image	
  categories	
  
1,431,167	
  images	
  
256x256	
  pixels	
  



2010	
  –	
  2017:	
  ImageNet	
  Large	
  Scale	
  Visual	
  	
  
Recogni#on	
  Challenge	
  (ILSVRC)	
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2012	
  

AlexNet	
  
	
  

11.7%	
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2013	
  

	
  

ILSVRC	
  
2014	
  
VGG	
  

	
  

ILSVRC	
  
2014	
  

GooLeNet	
  
	
  

ILSVRC	
  
2015	
  
ResNet	
  
	
  

Human	
  
	
  

7.3%	
  
	
  

6.7%	
  
	
   5.0%	
  

	
   3.6%	
  
	
  

Er
ro
r	
  R

at
e	
  

CNN	
  
plus	
  
GPU!	
  

In	
  2012	
  only	
  1	
  CNN:	
  
1st	
  U.	
  Toronto	
  –	
  16%	
  
2nd	
  U.	
  Tokyo	
  –	
  26%	
  
3rd	
  U.	
  Oxford	
  –	
  27%	
  
4th	
  INRIA	
  –	
  27%	
  
5th	
  U.	
  Amsterdam	
  –	
  29%	
  

In	
  2013	
  	
  
All	
  top	
  20	
  used	
  
CNN	
  and	
  GPU!	
  

In	
  2015	
  
RevoluGon	
  of	
  
CNN	
  Depth!!	
  
ResNet	
  won	
  every	
  
event!	
  

152	
  
layers!	
  



2012:	
  AlexNet	
  [Krizhevsky	
  et	
  al.,	
  2012]	
  Univeristy	
  of	
  Toronto	
  

Winner	
  2012	
  ImageNet	
  by	
  a	
  large	
  margin	
  (16%	
  error	
  vs.	
  26%)	
  
First	
  CNN	
  in	
  compe##on	
  
First	
  GPU	
  in	
  compe##on,	
  used	
  CUDA	
  	
  
Trained	
  6	
  days	
  on	
  two	
  Nvidia	
  GeForce	
  GTX	
  580s	
  
First	
  use	
  of	
  ReLU	
  ac#va#on	
  
Deep	
  8	
  layers	
  with	
  62.3	
  million	
  parameters!	
  
Trained	
  with	
  15	
  million	
  images	
  from	
  22,000+	
  categories	
  
Performs	
  1.1	
  billion	
  computa#ons	
  in	
  one	
  forward	
  pass	
  for	
  one	
  image.	
  
Used	
  data	
  augmenta#on,	
  dropout,	
  SGD	
  with	
  momentum,	
  and	
  ensembling.	
  
	
  	
  



2013:	
  ZFNet	
  [Zeiler	
  &	
  Fergus,	
  2013]	
  University	
  of	
  Courant,	
  NY	
  

Winner	
  2013	
  ImageNet	
  by	
  analyzing	
  how	
  CNNs	
  work.	
  
	
  	
  



2013:	
  ZFNet	
  [Zeiler	
  &	
  Fergus,	
  2013]	
  University	
  of	
  Courant,	
  NY	
  



2013:	
  ZFNet	
  [Zeiler	
  &	
  Fergus,	
  2013]	
  University	
  of	
  Courant,	
  NY	
  



2014:	
  VGG	
  Net	
  [Simonyan	
  &	
  Zisserman,	
  2014]	
  University	
  of	
  Oxford	
  
	
  	
  

Second	
  place	
  2014	
  ImageNet	
  
Twice	
  as	
  deep	
  as	
  previous	
  CNNs	
  
Simple	
  architecture	
  of	
  only	
  3x3	
  convolu#ons	
  
Trained	
  on	
  four	
  Nvidia	
  Titan	
  Black	
  GPUs	
  for	
  2-­‐3	
  weeks	
  
Deeper	
  16	
  (or	
  19)	
  layers	
  with	
  139	
  million	
  parameters!	
  	
  

3x3	
  conv	
   3x3	
  conv	
  

5x5	
  conv	
  

Two	
  3x3	
  convolu#ons	
  layers	
  

Versus	
  one	
  5x5	
  convolu#on	
  layer	
  



2014:	
  GooLeNet	
  [Szegedy	
  et	
  al.,	
  2014]	
  

IncepGon	
  Module	
  

Winner	
  2014	
  ImageNet	
  with	
  6.7%	
  error	
  
Parallel	
  and	
  computaGonally	
  efficient	
  architecture	
  
Used	
  batch	
  normaliza#on	
  and	
  RMSprop	
  op#mizer	
  
Deeper	
  21	
  layers	
  with	
  only	
  4	
  million	
  parameters!	
  
Trained	
  on	
  a	
  few	
  high-­‐end	
  GPUs	
  under	
  1	
  week.	
  	
  



2015:	
  ResNet	
  [He	
  et	
  al.,	
  2015]	
  Microsof	
  Research	
  

Winner	
  2015	
  ImageNet	
  in	
  all	
  categories!	
  
Achieved	
  3.5%	
  error	
  which	
  beat	
  human	
  5%.	
  

Extremely	
  Deep	
  152	
  layers!	
  
Trained	
  on	
  eight	
  GPUs	
  for	
  2-­‐3	
  weeks	
  
Used	
  skip	
  connecGons	
  



2016	
  –	
  2018:	
  Explosion	
  of	
  Deep	
  Learning!!	
  







GPUs	
  +	
  Deep	
  Learning	
  +	
  Natural	
  Language	
  Processing	
  
Robots	
  add	
  cap#ons!	
  



Robots	
  win	
  
our	
  video	
  games!	
  

GPUs	
  +	
  Deep	
  Learning	
  +	
  Reinforcement	
  Learning	
  



Robots	
  mimic	
  
our	
  behavior	
  

GPUs	
  +	
  Deep	
  Learning	
  +	
  Reinforcement	
  Learning	
  



Robots	
  drive	
  vehicles	
  

GPUs	
  +	
  Deep	
  Learning	
  +	
  Reinforcement	
  Learning	
  



Oct	
  15,	
  2018	
  



A	
  2018	
  GPU	
  is	
  as	
  powerful	
  as	
  the	
  top	
  2007	
  	
  
supercomputer!	
  	
  

2007	
  

1014	
  flops	
  



Thank	
  you!	
  


